Solving Word Problems
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Elliott
What questions can you ask?

o Hom mach pirza did Eliott ong Amirc sat cliogether?
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Amiroate more than Elliote.

Amiraala f mare al iba piesa thon ERelt abe.
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Mo much cakn did and v ma?
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[ took holf os mory
‘ Ttk 5 b, H sweetn oy Emmo.
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Y Dok teicd a3 masy
Emnn Ellicat pmnnte s Fmma, Lulu

How mory mwpats did they toke albcgethes?

o number of Smeets
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ge12-18
Euliol‘a 12 4
Lulu . 3 18+3=21
6+12+35=21

I'ney took 21 sweets aiogether

Gulded Practice

o Hem oy smmese did E et boka?
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Fufi=12
Elligtt bok 12 swaets

Emfsa =

o Mo oy seoets did Ly toke?

E+2=3 ”

Lulu took 3 swests.

Ellict# gt % ef the manth drasrg

Aftar that, he spant the rest of the
mrdh painting his deaming.

Ha soak 30 doys to complate the
drering o painbing.

Herwe mizey cerge in % of 300 dayal?
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Hom borg is the piece of rilbbon ot Som ased?

a fal Hie Py s hall o bug of rts?
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Rlutry cl-unk ‘]j: el the mlk i the bolibe

U (o) Hommuch wilk did she drink?
(8] Howmuch wilkwas lefi?

o Eilicetr s 300 cdoys o finish a project
He Faads b sy i of the tirse plannieg it

Hunem ranrsy chrgn dlwss Flintt apand an plaaning?
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How many cupeakas goas ‘hq’
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fa) How manny cookks Cces - buy?
el

{3 How masry cookius mﬂam} buy chogether?
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Fowm hox % axmany &3 cainxas Hannak hos

Hannah hes & 88 coia 4
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o) Mow many coing does Rared howe?
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{13 How much oy doss e barse?

n Howy many oows is % af 30 dogs ¥
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Vehost is ; of 50 coys?
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° Vehat iz %1 af 50 cya?
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